Pt (m-1)x+m+1=09F o] A7t HE=E Ao m o] ¢
& Totefet

cCh -
="

>
> ®et: 6

od -

B

P+ m-Dx+m+1=09 F Z2 e, g4
a+pB=1-m---Q,ef=m+1---©
O+O0=3tH B+ +B=2(a, B= BT)
(@+1)(B+1)=3

-. {“:O {“:‘2 £ O Bt
B=2 |B=-4

m=-1,7




LA X2 +2x+14y* —dy+4=0&
x+y9] gk otofet.

> E

MY 1

V

o
—

Z =

o

e

Al
=

O~
T Xy

94

w2

B

X4+2x+1+y>—4x+4=0 A
x+1)2+(r-2°=0
x, y=AFolBR x=-1, y=2
Lxty=-1+2=1




L
oo
re
s
ol
o
>

9] BE s] gL Fofedel.

x4y=u, xy=v 2 FOH Fol7 ARPHAS

Al
u? —2v =25
v=12

L u==7,v=12

wfebs, Fola AL ot 2ol ek 4 9ok,

xy:12 ...@
T x+y:—7@

xy=12 ---©

(i) ©, ©NA x, y = o124
E2x=3y=4F=x=4,y=3

(ii) @, ©°NA x, y &= C1ZPEAA 2 + 714+ 12 = 0 & F 9]
B2 x=-3, y=-4FE=x=-4,y=-3

(i), (i) 2FH Aotz ZE oo &2 0

~

12 -7t +12 =0 9 & o]

N




& WEohE v, yE 01 2 -y 9 HEe BF

> ®Heh 12 3= -12

B )

Xx—y=2 .0
¥ +y?2=20 ---©
QM y=x-25

O] Bisi
¥+ (x—2)2=20,2x> -4x+4-20=0,
2 -2x-8=0,(x-4)(x+2)=0

x=4 x=-2
T

y=2 y=—4

rr

Loy =16-4=12FEx-y? =4-16 = -12




x, y7F A o A xy - x -2y -

o |58 Fatolet

> = il
> =e 6

xXy—x—2y—-2+4+4=4
y-1)-200-1)=(x-2)(y-1) =4
w4

x—-2=1,y-1=49 W}, x=3, y=5
x-2=2y-1=29M, x=4, y=3
x—2:4,y—1:1°E]EH,x:6,y:2

x-2=-1,y-1=-4¥d @ x=1, y=-3
x-2=4,y-1=-191,x=6,y=0
x-2=1,y-1=449 9, x=3,y=5
webd &AL
(6, 0), (3, 5) = BF 67]o]H.

(3, 5), (4, 3), (6, 2), (1, =3),




